51144

15[
A 16 12 B 20 12
C 24 9
O 0 |
7
25
D 24 -1
0.1
t 0.2
cm
L F 12 -9 E 18 -9
-10
1
1
2mm 1mm
A4, yiz
AA. =tAS, 1
Sz Sy' Zo yo
[y IZ‘ I}z
S . =AAz' 2a



S.=AA4.y,' 2b

_ 3 3a
Y, 4
S
Zoz—y 3b
A
I, =A4z" 4a
I.=My" 4b
I, =A4y, 'z 4c
1
1
ozt | oy | A4S | A4, | A4z | AAp) | A4z | A4 | A4z
1
[cm] | [em] | [em] | [em?] | [em®] | [em?] | [em?] | [em*] | [em*]
1] 8 6 | 20 2 16 12 | 128 72 96
2| 18 | 12 04 | 7.2 | 48 | 1296 | 576 | 86.4
3| 22 |105 05 | 11 | 525 | 242 |55.12 | 1155
4| 24 | 4 | 10 1 24 4 576 16 96
5| 21 | -5 | 10 1 21 5 | 441 25 -105
6| 15 | -9 6 0.6 9 5.4 | 135 | 486 -81
71 8 6 | 10 1 8 -6 64 36 -48
8| 2 |-15]| 5 1 2 -15 4 2.25 -3
D 75 | 98.2 | 815 | 1719 | 3125 | 156.9
A S, S, I, L L
3a b
8.15
=——=1.086[cm
Y, 75 [cm]
98.2
z, =——=13.09 [cm]
7.5
V' n z ¢




I§ 1775

2
I,=1,-z4 5a
I.=1.-y,°4 5b
L.=1,.+y,z,4 5c

I, =1719-13.09? x 7.5 = 433.8 [cm"]
I, =312.5-1.086 x 7.5 = 303.6 [cm]

1, =156.9+1.086x13.09x 7.5 = 263.5 [cm’]

y oz 0
21
tan 20 = —= 6
If T
tan20 = 222932 _ 4047
303.6-433.8

71_
g (BN -400T)_ oo et 38,08 e

— 45 < 0 < 45 [deg] Yoz
Iy:1,742rlé+\/ 1,7;15 2+[U§2 7a
I =0 7c



2
- 433.8;303.6+\/(433.8;303.6j +263.52 =640.1 . 640[cm’]

2
I, = 433'82303'6 _\/[433'8;303'? +263.52 =97.30  .-.97.3[cm’]




